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Figure S1 Original data of TENG 1 under the different loading resistances.
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Figure S2 Original data of TENG 2 under the different loading resistances.
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Figure S3 Original data of TENG 1 after using a transformer under the different loading

resistances.
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Figure S4 Original data of TENG 1 after using a transformer under the different loading
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Figure S5 Original data of EMG 1 under the different loading resistances.



Current {ma)

Current {maj

Current [md)

Current (ma)

L I

R S oo

-

(-3

] F 4 & B 0
Tirme (s}
Resistance=1 0
Mean=2 28438 ma
Standard Deviation=0 2866 m#&

wa

) 2 H & H 10
Time (5]
Resistance=100 ()
Mean=2 09545 mA
Standard Devigtion=0,26625 mA

0E

o4

oz

U]

42

4

Tirme (s}
Resistanca=2 k{)
Mean=0.93866 mA

Standard Deviation=0.12774 m&

[ 7 & H W 0
Time (5}
Resistance=86 k{}
Mean=0 4244 m#a
Standard Deviation=0,04931 mA

Current {rm)

Current (ma)

Current [md)

Current {ma)
R N

o8

LLE

B34

0.0 4

0.3

S

.
] 2 4 L1 a kL)

Time (s}
Resistance=100)
Mean=2.27358 m&

Standard Deviation=0.28201 mA

Time [5)
Resistance=1 k{2
Mean=1.324 mA
Standard Deviation=0, 16383 mA

Thme [s)

Resistance=4 k(}
Mean=060373 ma
Standard Deviation=0.08045 mA

@ i H H i 10
Tuma [s)
Resistance=8 k{1
Mean=0.33881 mA
Standard Deviation=0.04117 m&

Figure S6 Original data of EMG 2 under the different loading resistances.



Figure S7 Photograph of a fabricated self-powered temperature sensor system.



Movie files

Movie file-1. Air-flow driven vibration behavior of the kapton film.

Movie file-2. The hybridized nanogenerator driven LEDs.

Movie file-3. The hybridized nanogeneartor driven LEDs for providing the illumination for
reading printed text.

Movie file-4d. The hybridized nanogenerator driven capacitor for sustainably powering
temperature sensors.

Movie file-5. The human mouth blowing induced air-flow to drive the hybridized
nanogeneartor for powering a temperature sensor.

Movie file-6. Self-powered temperature sensor system that is based on the human mouth

blowing induced air-flow to drive the hybridized nanogeneartor.



